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4.  AABC oA AD &= (A ©] o]5244 o, x o] Ao]E FHA 2.

B ~2cem”D~14em-~ C

D 14cm @ 16cm ® 18cm @ 23cm ® 24cm



S 284 AABC & AC = BC ¢l o]5¥4Ztgoltt. BD = CD
o]il /B =35° < uf, /ACD 9] 37]&9

A

B35

O 65° @ 75° @ 85° @ 95° ® 105°



6. o3 I1H9] AABCOIA, AB =BC, AP = CP&aL & mf, x + y 2
2717

25°

25°

O 125° @ 135° @ 145° @ 155° ® 165°



7. o2 oA P =40° 2w, 1x & 2717 (& AP = AB = BC
)

@® 90° @ 95° ® 100° @ 105° ® 110°



8. Thg 179 447 ABCD 7t AAZHEol 5

S & shs 20| obd AS M2 WY

@O AB = BC °]t}.

@ LA+ /C=180° °|t}. B
® /AOB = 90° o]t}

@ /AOD + /BOC = 180° ©|t}.

®» AO1BD o]t}
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9.

AA---Y--./

@ 2 ® 2.5 @ 3 ® 35

D 15



10. thg =3} o] AD//BC 1 AhalZ ABCDOIA EF//BC 2 1,
x, y O 7ke Zk7t Fahm?

O x=3y=2 @ x=4,y=2 ® x=5y=2

@ x=4,y=1 ® x=35y=2



11.

e
=9

oA AB//EF /DCe] AB: CD = 4: 1< o), EF : AB

A




12, o5 I2"HolA AABC 9] ZF M| 32 o]o] T= aDEF 9 =99
Zo]7} 20cm € ), AABC 9] Ed9] Zo|=?

A

@ 30cm @ 32cm @ 36cm @ 40cm ® 48cm



13. Fo] Mg thg T} ol WAL ), Lx 9] 3715 Topolet.

@© 40° @ 50° ® 60° @ 65° ® 67°



& 1389 YPAE ABCD oA AB =
m, AD = 8cm, /B = 70° °o|t}. /D 2]
n™o] E o] AFLED

@ 45°,3cm @ 45°,5¢cm @ 55°, 3cm

@ 55°,5cm ® 60°,3cm



15.

[ 1<

o o1& +& AR vrEA A2 A27

250A’B’C’'D’ = 90ABCD & 7=
7} pABCD 7} ith. & =& 9] 31| =
15em & o, B'C o] Zdol=[ e :
AD 9] Zol=[  JemE wHEJIY,

D 1:4,8, 10 @ 3:5,8, 20 ® 3:5,9, 20

@ 5:3,9, 10 ® 5:3,9, 20




16. t©}2 1394 AD - DB=2:5 4% o, EC
o] Zolg a2

@ 25cm @ 26cm @ 27cm

@ 28cm ® 29cm



17. oh3 27 2ol AD 7} /A 9] 917ke] o] 5-#4d0] 1 AACD ©] Wol7}
36cm? ¥ o], AABC 9] Hol]&?

® 18cm? @ 24cm? @ 28cm?

@ 32cm? ® 36cm?



18.

ok I-A ¢//m//n, AP : PC’' =3 : 4
A o, x,y o] dol=?

® x=5y=6 @xzfi,yz;
16 14
@x—5,y—§ @x—ﬁ,y—g




19. o3 199 oABCD 94 AD//EF//BC, AE : EB = 2 : 3 ©]1,
AD = 6cm , BC = 15cm € W, PQ 2] Zo]&?

12
@) gcm @) gcm ©) Ecm
—cm ® 6cm



20. TS 139 AABCOIAAD:DB=3:4, BE: A
EC=4:3 CF:FA=4:30°|th FP =

4cm, PC = 7cm € W, DP 9}PE 2] Zo]9] D, F

A Fotoler, ‘\
B Ec

@ 2cm @ 2.5cm ® 3cm

@ 3.5cm ® 4cm



